Check for updates

OPEN ACCESS

EDITED BY Thiago Quinaglia A. C. Silva, Massachusetts General Hospital, United States

REVIEWED BY Eszter Anna Janka, University of Debrecen, Hungary Giuseppe Murdaca, University of Genoa, Italy

*CORRESPONDENCE Du Wang 3813527429@qq.com

RECEIVED 16 January 2024 ACCEPTED 12 March 2024 PUBLISHED 21 March 2024

CITATION

Long J, Yang M, Pang Y, Kang H, Liang S and Wang D (2024) The causal relationship between psoriasis and cancers: a two-sample Mendelian randomization analysis. *Front. Oncol.* 14:1366958. doi: 10.3389/fonc.2024.1366958

COPYRIGHT

© 2024 Long, Yang, Pang, Kang, Liang and Wang. This is an open-access article distributed under the terms of the Creative Commons Attribution License (CC BY). The use, distribution or reproduction in other forums is permitted, provided the original author(s) and the copyright owner(s) are credited and that the original publication in this journal is cited, in accordance with accepted academic practice. No use, distribution or reproduction is permitted which does not comply with these terms.

The causal relationship between psoriasis and cancers: a two-sample Mendelian randomization analysis

Jiaye Long¹, Miyang Yang², Yingrong Pang³, Hongyan Kang¹, Shuai Liang³ and Du Wang¹*

¹Department of Interventional Radiology, Inner Mongolia Forestry General Hospital, The Second Clinical Medical School of Inner Mongolia University for The Nationalities, Yakeshi, Inner Mongolia, China, ²Department of Radiology, The First Clinical Medical College, Fujian University of Traditional Chinese Medicine, Fuzhou, Fujian, China, ³Department of Cardiology, Inner Mongolia Forestry General Hospital, The Second Clinical Medical School of Inner Mongolia University for The Nationalities, Yakeshi, Inner Mongolia, China

Background: Although observational studies suggest a correlation between psoriasis (PS) and cancers, it is still unknown whether this association can replace causal relationships due to the limitations of observational studies. Therefore, we conducted a two-sample Mendelian randomization (MR) analysis to evaluate the causal relationship between PS and cancers.

Methods: PS genetic summary data were obtained from two genome-wide association studies (GWAS). We employed MR Base for individuals retrieving tumors from distinct locations. Inverse-variance weighted analysis was the principal method used for MR, supplemented by weighted median, MR Egger, simple mode, and weighted mode. To investigate the possible link between psoriasis and cancers, we performed two independent two-sample MR studies and a meta-analysis based on two independent MR analyses.

Results: Two independent MR analyses both found no significant causal relationship between PS and overall cancers (OR=1.0000, 95% confidence interval [CI]:0.9999-1.0001, *P*=0.984; OR=1.0000, 95% CI:0.9999-1.0001, *P*=0.761), and no significant causal relationship with 17 site-specific cancers. In the meta-analysis conducted by two two-sample MR analyses, there was no significant causal relationship between PS and overall cancers (OR=1.0000, 95% CI: 0.9999-1.0001, *P*=1.00, $I^2 = 0.0\%$), and there was no significant causal relationship with 17 site-specific cancers.

Conclusions: Our findings do not support a genetic link between PS and cancers. More population-based and experimental investigations will be required better to understand the complicated relationship between PS and cancers.

KEYWORDS

psoriasis, cancers, Mendelian randomization analysis, GWAS - genome-wide association study, meta - analysis

1 Introduction

Psoriasis (PS) is an inflammatory disease that is controlled by several genes, influenced by environmental variables, and mediated by immunology (1). The prevalence of PS varies across regions worldwide, spanning from 0.5% to 4.6% (2). PS can affect the patient's skin, scalp, joints, and other organs as a systemic disease. The following symptoms are the most commonly observed: The symptoms include (1) erythematous lesions (2); pruritus, stinging, or skin irritation (3); epidermal fissures, xerosis, and potential hemorrhage (4); flaky scalp; and (5) arthralgia and inflammation. The patient has been further burdened by comorbidities associated with PS, including cardiovascular disease, inflammatory gastrointestinal disease, diabetes, and PS arthritis (3). Notwithstanding this, the link between PS and cancer is uncertain, especially in tumors with specific locations. The significance of inflammatory factors in the pathogenesis of PS validates the soundness of this correlation. Previous research has also demonstrated that inflammatory factors increase tumor formation (4). A study based on the UK electronic medical record database investigated the link between PS and cancer, finding that it existed only in non-melanoma skin cancer, lymphoma, and lung cancer (5). A meta-analysis also indicates that PS is linked to cancers (6).

Still, observational research has its drawbacks, including confounding bias, information bias, and the challenge of establishing causal relationships. The reported correlation between PS and cancer in observational studies could be coincidental. Therefore, this relationship requires additional investigation. As a statistical model, mendelian randomization (MR) employs genetic variation as instrumental variables (IVs) to infer the causal relationship between exposure and outcome (7, 8). Genetic variation is intrinsic and assigned randomly after conception, simulating a randomized controlled environment, reducing the impact of reverse causality, and explaining confounding circumstances. Therefore, MR has been frequently used for causal analysis of exposure and outcomes. This study aims to employ a MR analysis to evaluate whether gene-determined PS has a causal association with cancer at specific sites.

2 Materials and methods

2.1 Study design

The design of the study is shown in Figure 1.

2.2 Selection of data sources and candidate instrumental variables

We obtained PS GWAS summary data via the IEU Open GWAS Project online platform from Stuart PE et al. (PMID: 34927100; GWAS ID: ebi-a-GCST90019016) and FinnGen (GWAS ID: Finn-b-L12-PSORIASIS). Stuart PE et al. included eight cohorts (15,967 cases and 28,194 controls) and conducted a meta-analysis of 8,536,277 markers in 4 cohorts using inverse variance weighting (IVW) method, resulting in 47 loci. By accumulating genetic, clinical, and health data, the FinnGen project, a large-scale genetic research initiative, investigates the correlation between genomic information and health characteristics of the Finnish population. In the final analysis, ICD-10 code L40 incorporated 4,510 cases and 212,242 controls for 16,380,464 loci.

We utilized MR Base (http://app.mrbase.org), a novel platform that aggregated data from multiple GWAS in a unified fashion, to analyze cancers (9). In order to obtain the outcome data of tumors at specific locations, we sequentially input "esophagus," "multiple myeloma," "liver," "pancreas," "biliary tract," "cancer," "coloratum," "breast," "kidney," "lung," "melanoma," "state," "brain," "head and neck," "leukemia," "oval," "bladder," "skin" to obtain the corresponding GWAS ID. Concurrently, to perform a two-sample MR analysis, we excluded populations from the same source as those exposure revealed by accessing the UK Biobank database.



Use a filtering condition of p < 5e-08 to identify single nucleotide polymorphisms (SNPs) that are substantially connected with exposure factors as IVs when performing correlation analysis on exposure data. Subsequently, adjust the clump parameter (r2 > 0.01, distance=10,000kb) to eliminate chain imbalance interference. In addition, SNPs with incompatible alleles and palindromic SNPs were removed from MR analysis. Other populations will not be included in our MR investigation, which picked members of the European population.

2.3 Statistical analysis

The primary analysis method for MR was IVW (10), with supplementary approaches including MR Egger (11), weighted median (12), simple mode (13), and weighted mode (14). We tested the IVs strength using the F-statistic to remove the impact of weak instrumental bias on estimating causal relationships (15). $F=R^2$ (N-K-1)/K (1-R²) was the formula used to calculate the Fstatistic, where R², N, and K represented the proportion of exposure variance explained by genetic variation, sample size, and number of IVs, respectively. F > 10 indicated the absence of weak instrumental bias. MR analysis results may be impacted by heterogeneity when the IVs for exposure and outcome were derived from various analysis platforms, studies, and populations. The IVW and MR Egger tests were used to assess heterogeneity, and a P-value < 0.05 suggested that heterogeneity existed in the study. In order to investigate the influence of remaining SNPs on causal connections, sensitivity analysis was performed using the leaveone-out method, which involved removing one SNP linked to exposure at a time. Outlier SNPs with possible pleiotropy bias can be found using MR-PRESSO; if the P-value < 0.05, outliers were present (16). Prior to performing MR analysis, eliminate any outliers. We used the Bonferroni correction, where a P-value < 0.0015 (0.05/(2 PS exposures * 17 tumor outcomes)) was statistically significant, taking into account the number of tumors to prevent false positives in multiple tests. Since our study's exposure sources came from two distinct databases, we performed a meta-analysis to determine the causal relationship between each exposure and outcome. When $I^2 > 50\%$, a random effect model was applied since it was deemed to have high heterogeneity. Conversely, a fixed effect model was applied. All results are represented by odds ratio (OR) values and 95% confidence intervals (CI). For all statistical studies, R software (version 4.3.0) was used. The R software packages "TwoSampleMR," "Mendelian Randomization," "MR PRESSO," and "meta" were among those that were utilized.

3 Results

The number of SNPs selected from the PS GWAS of Stuart PE and FinnGen was shown in Table 1; Supplementary Tables 1-34. All F-statistics were greater than 10 (Supplementary Tables 1-34). The Cochran heterogeneity test using MR Egger and IVW methods showed that 8 out of 34 MR analyses exhibited heterogeneity (Supplementary Table 35). MR-Egger test showed no statistically significant difference in their intercepts (P > 0.05), indicating that our study did not observe directed pleiotropy (Supplementary Table 35). Meanwhile, MR-PRESSO did not detect outliers. The results of the leave-one-out method indicated that the SNPs removed one by one did not impact the results (Supplementary Figure 1; Supplementary Figure 2).

Based on PS GWAS of Stuart PE, there was no causal relationship between genetically predicted PS and brain cancer (OR=1.0001, 95% CI: 0.9999-1.0002, P=0.488), head and neck cancer (OR=1.0003, 95% CI: 1.0000-1.0005, P=0.025), skin cancer (OR=1.0002, 95% CI: 0.9995-1.0009, P=0.504), melanoma (OR=0.9997, 95% CI: 0.9994-1.0000, P=0.051), multiple myeloma (OR=1.0000, 95% CI: 0.9999-1.0002, P=0.649), breast cancer (OR=0.9743, 95% CI: 0.9484-1.0008, P=0.057), lung cancer (OR=1.0003, 95% CI: 0.9998-1.0008, P=0.226), esophageal cancer (OR=1.0001, 95% CI: 0.9999-1.0003, P=0.353), liver cancer (OR=0.9999, 95% CI: 0.9998-1.0000, P=0.126), bile duct cancer (OR=1.0000, 95% CI: 0.9998-1.0001, P=0.669), pancreatic cancer (OR=1.0482, 95% CI: 0.9084-1.2100, P=0.519), colorectal cancer (OR=1.0003, 95% CI: 1.0000-1.0010, P=0.405), kidney cancer (OR=1.0000, 95% CI: 0.9997-1.0002, P=0.770), prostate cancer (OR=0.9982, 95% CI: 0.9968-0.9997, P=0.016), bladder cancer (OR=1.0001, 95% CI: 0.9998-1.0004, P=0.632), cervical cancer (OR=0.9998, 95% CI: 0.9994-1.0001, P=0.280), ovarian cancer (OR=1.0000, 95% CI: 0.9995-1.0005, P=0.991), and overall cancer (OR=1.0000, 95% CI: 0.9999-1.0001, P=0.984) (Table 1).

Furthermore, based on PS GWAS of FinnGen, there was no causal relationship between genetically predicted PS and brain cancer (OR=1.0000, 95% CI: 0.9998-1.0003, P=0.966), head and neck cancer (OR=1.0004, 95% CI: 1.0000-1.0007, P=0.027), skin cancer (OR= 0.9999, 95% CI: 0.9992-1.0005, P=0.694), melanoma (OR=0.9992, 95% CI: 0.9982-1.0002, P=0.106), multiple myeloma (OR=1.0000, 95% CI: 0.9998-1.0003, P=0.768), breast cancer (OR=1.0140, 95% CI: 0.9974-1.0307, P=0.100), lung cancer (OR=1.0001, 95% CI: 0.9994-1.0009, P=0.688), esophageal cancer (OR=0.9999, 95% CI: 0.9997-1.0003, P=0.963), liver cancer (OR=1.0000, 95% CI: 0.9998-1.0001, P=0.497), bile duct cancer (OR=1.0000, 95% CI: 0.9998-1.0002, P=0.740), pancreatic cancer (OR=0.9300, 95% CI: 0.6548-1.3180, P= 0.680), colorectal cancer (OR=1.0003, 95% CI: 0.9994-1.0011, P=0.525), kidney cancer (OR=1.0001, 95% CI: 0.9989-1.0013, P=0.864), prostate cancer (OR=0.9980, 95% CI: 0.9957-1.0004, P= 0.105), bladder cancer (OR=1.0000, 95% CI: 0.9997-1.0003, P=0.899), cervical cancer (OR=1.0002, 95% CI: 0.9998-1.0006, P=0.340), ovarian cancer (OR=0.9997, 95% CI: 0.9991-1.0003, P=0.636), and overall cancer (OR=1.0000, 95% CI: 0.9999-1.0001, P=0.761) (Table 1).

Eventually, we performed a meta-analysis of the OR values and their CI generated by Stuart PE and FinnGen's GWAS to generate new OR values and 95% CI. The meta-analysis had no significant causal relationship between PS and brain cancer (OR=1.0001, 95% CI: 1.0000-1.0002, P=0.263), head and neck cancer (OR=1.0001, 95% CI: 0.9995-1.0006, P=0.826), skin cancer (OR=1.0000, 95% CI: 0.9996-1.0005, P=0.873), melanoma (OR=0.9994, 95% CI: 0.9985-1.0002, P=0.128), multiple myeloma (OR=1.0000, 95% CI: 0.9999-1.0000, P=1.000), breast cancer (OR=1.0003, 95% CI: 0.9999-1.0007, P=0.816), lung cancer (OR=1.0001, 95% CI: 0.9999-1.0007, P=0.205), esophageal cancer (OR=1.0001, 95% CI: 0.9998-1.0003, P=0.415), liver cancer (OR=0.9999, 95% CI: 0.9998-1.0000, P=0.103), bile duct cancer

TABLE 1 Results of Mendelian randomization analysis and meta-analysis using inverse-variance weighted method for psoriasis and cancers.

exposure	outcome	nsnp	OR (95% CI)	pval	l ² (%)
Stuart PE FinnGen Meta-analysis	brain	48	1.0001 (0.9999-1.0002)	0.488	
		12	1.0000 (0.9998-1.0003	0.966	
			1.0001 (1.0000-1.0002)	0.263	0.0
Stuart PE FinnGen Meta-analysis	head and neck	49	1.0003 (1.0000-1.0005)	0.025	
		12	1.0004 (1.0000-1.0007)	0.027	
			1.0001 (0.9995-1.0006)	0.826	69.4
Stuart PE FinnGen Meta-analysis	skin	47	1.0002 (0.9995-1.0009)	0.504	
		10	0.9999 (0.9992-1.0005)	0.694	
			1.0000 (0.9996-1.0005)	0.873	0.0
Stuart PE FinnGen Meta-analysis	melanoma	25	0.9997 (0.9994-1.0000)	0.051	
		2	0.9992 (0.9982-1.0002)	0.106	
			0.9994 (0.9985-1.0002)	0.128	0.0
Stuart PE FinnGen Meta-analysis	multiple myeloma	48	1.0000 (0.9999-1.0002)	0.649	
		12	1.0000 (0.9998-1.0003)	0.768	
			1.0000 (0.9999-1.0000)	1.000	0.0
0	breast	47	0.9743 (0.9484-1.0008)	0.057	
FinnGen		13	1.0140 (0.9974-1.0307)	0.100	
Meta-analysis			0.9954 (0.9574-1.0349)	0.816	83.7
Stuart PE FinnGen	lung	49	1.0003 (0.9998-1.0008)	0.226	
		12	1.0001 (0.9994-1.0009)	0.688	
Meta-analysis			1.0003 (0.9999-1.0007)	0.205	0.0
Church DE	esophagus	48	1.0001 (0.9999-1.0003)	0.353	
FinnGen		12	0.9999 (0.9997-1.0003)	0.963	
Meta-analysis			1.0001 (0.9997-1.0003)	0.415	0.0
Stuart PE FinnGen	liver	44	0.9999 (0.9998-1.0000)	0.126	
		11	1.0000 (0.9998-1.0001)	0.497	
Meta-analysis			0.9999 (0.9998-1.0000)	0.103	15.4
Stuart PE FinnGen Meta-analysis	bile duct	48	1.0000 (0.9998-1.0001)	0.669	
		12	1.0000 (0.9998-1.0002)	0.740	
			1.0000 (0.9999-1.0001)	1.000	0.0
Stuart PE FinnGen Meta-analysis	pancreas	22	1.0482 (0.9084-1.2100)	0.519	
		4	0.9300 (0.6548-1.3180)	0.680	
			1.0302 (0.9022-1.1763)	0.661	0.0
Stuart PE FinnGen Meta-analysis	colorectum	49	1.0003 (1.0000-1.0010)	0.405	
		12	1.0003 (0.9994-1.0011)	0.525	
			1.0003 (0.9999-1.0007)	0.172	0.0
Stuart PE FinnGen Meta-analysis	kidney	26	1.0000 (0.9997-1.0002)	0.770	
		2	1.0001 (0.9989-1.0013)	0.864	
			1.0000 (0.9998-1.0002)	0.973	0.0

(Continued)

TABLE 1 Continued

exposure	outcome	nsnp	OR (95% CI)	pval	I ² (%)
Stuart PE FinnGen Meta-analysis	prostate	49	0.9982 (0.9968-0.9997)	0.016	
		12	0.9980 (0.9957-1.0004)	0.105	
			0.9981 (0.9969-0.9994)	0.003	0.0
Stuart PE FinnGen Meta-analysis	bladder	49	1.0001 (0.9998-1.0004)	0.632	
		12	1.0000 (0.9997-1.0003)	0.899	
			1.0001 (0.9998-1.0003)	0.620	0.0
Stuart PE FinnGen Meta-analysis	cervix	48	0.9998 (0.9994-1.0001)	0.280	
		12	1.0002 (0.9998-1.0006)	0.340	
			1.0000 (0.9996-1.0004)	0.951	54.0
Stuart PE FinnGen Meta-analysis	ovary	49	1.0000 (0.9995-1.0005)	0.991	
		12	0.9997 (0.9991-1.0003)	0.636	
			0.9999 (0.9995-1.0003)	0.531	0.0
Stuart PE FinnGen Meta-analysis	overall		1.0000 (0.9999-1.0001) 1.0000 (0.9999-1.0001) 1.0000 (0.9999-1.0001)	0.984 0.761 1.000	0.0

(OR=1.0000, 95% CI: 0.9999-1.0001, P=1.000), pancreatic cancer (OR= 1.0302, 95% CI: 0.9022-1.1763, P=0.661), colorectal cancer (OR=1.0003, 95% CI: 0.9999-1.0007, P=0.172), kidney cancer (OR= 1.0000, 95% CI: 0.9998-1.0002, P=0.973), prostate cancer (OR=0.9981, 95% CI: 0.9969-0.9994, P=0.003), bladder cancer (OR=1.0001, 95% CI: 0.9998-1.0003, P=0.620), cervical cancer (OR=1.0000, 95% CI: 0.9996-1.0004, P=0.951), ovarian cancer (OR=0.9999, 95% CI: 0.9995-1.0003, P=0.531), and overall cancer (OR=1.0000, 95% CI: 0.9999-1.0001, P=1.000) (Table 1). The results of the other four methods were consistent with those of the IVW method (Supplementary Table 36).

4 Discussion

We discovered no significant causal connection between PS and 17 site-specific cancers in our two-sample MR analysis. This discovery was confirmed by sensitivity analysis and was consistent across two independent exposure data sources. The meta-analysis conducted on both data sets yielded consistent results. To our knowledge, this was the first MR study to look into the link between PS and 17 site-specific cancers.

Numerous epidemiological studies have already been conducted on the association between PS and cancers. The standardized incidence rate of malignant tumors was 1.40 (95% CI: 1.21-1.51) in a cohort study undertaken by Frentz et al. (17) over a mean follow-up period of 9.3 years after the discharge of patients with PS. Simultaneously, Ji et al. (18) concluded that the standardized incidence rate of total cancers in PS patients throughout the average 10-year follow-up period after discharge was 1.33 (95% CI: 1.26-1.40). Although observational studies in clinical practice indicate the link between PS and cancers, the underlying processes are unknown. Furthermore, it is currently unknown if correlations found in observational research may be used to replace causal links. This problem can be effectively solved via MR analysis.

Our findings imply that PS and tumors are not causally related, indicating that observational studies that have already been published may have been skewed by confounding variables. According to the most recent epidemiological research, obesity, alcohol use, and smoking are among the risk factors for PS (19). Indeed, several cancers, including pancreatic, liver, esophageal, and lung cancers, are also linked to obesity, drinking, and smoking (20-22). Although there are overlaps in the risk variables for cancers and PS, these confounding factors have not been considered in much prior epidemiological research. Thus, specific epidemiological research implies that PS is connected with a higher risk of acquiring cancers, which the common risk factors between PS and cancers can explain. Nevertheless, very little data on the association between PS and cancers has been adjusted for confounding variables. When smoking, BMI, age, education level, and hormone use were taken into account, the study's findings revealed that PS was solely linked to the risk of colon cancer (HR=1.6, 95% CI: 1.0-2.4), not the chance of acquiring other types of cancers (23). Concurrently, a different study that controlled for several factors (such as age, physical activity, BMI, smoking, drinking, hypertension, and diabetes) found a correlation between PS and the risk of gastric cancer (HR=1.31, 95% CI: 1.08-1.58), but not with other cancer risks (24). Murdaca et al. (25) investigated the expression of human leukocyte antigen-G (HLA-G) in gastric cancer tissue and discovered that HLA-G was present in gastric adenocarcinoma but not in the non-tumor gastric mucosa. Under normal conditions, HLA-G is highly expressed in the trophoblast cells of the human placenta and can also be found in early pregnancy fetal brain, thymus, and adult eye tissue, indicating a selective tissue distribution (26). HLA-G promotes immunological tolerance by controlling the activity of natural killer (NK) cells, T cells, and antigenpresenting cells (27, 28). As a result, HLA-G may play a role in PS, an inflammatory disease that affects certain organs. At the same time, HLA-G molecules allow tumor cells to elude the killing and dissolving actions of NK cells and cytotoxic T cells, which is a strategy for tumor cells to

avoid immune surveillance. However, there is currently a lack of study on the association between HLA-G and cancers, with the exception of gastric cancer. More research is needed to determine the association between HLA-G and cancers.

However, we cannot neglect that the majority of research on the link between PS and cancer is focused on hospitalized patients. Furthermore, the PS that landed these people in the hospital could have been more severe. Nonetheless, most research does not stratify PS severity but focuses on the relationship between PS and cancers. Regardless, the impact of PS severity classifications on tumor risk may vary. According to research, the risk of developing cancer increases in direct proportion to the severity of PS (29, 30).

The mechanism underlying PS and tumor development is currently being researched. However, the inflammatory response of the two pathways is the most fiercely debated. PS is caused by activated plasma cell dendritic cells producing pro-inflammatory cytokines and tumor necrosis factor- α (TNF- α), activating myeloid dendritic cells (31). Activated myeloid dendritic cells also produce IL-12 and IL-23, which activate Th1 and Th17 (31). Keratinocytes are triggered by the release of tumor necrosis factor-a and IL-17A by both Th1 and Th17 (3). Keratinocytes then excite plasma cell dendritic cells, which generate a variety of cytokines, chemokines, and antimicrobial peptides (3). As a result, the inflammatory response lasts an extended period. TNF-a, IL-1, IL-12, IL-23, and other upregulated cytokines in PS have been demonstrated to play a role in some malignancies (32). Prospective studies are required, and common confounding factors must be thoroughly explored in order to truly and honestly study the impact of PS on malignancies. MR analysis, as a research approach in evidence-based medicine with the second most vigorous justification after randomized controlled trials, can be a substitute to some extent.

Our study offers some advantages. For starters, MR can reduce the impact of confounding factors and reverse causation in inferring causal correlations, making it superior to typical observational investigations. Furthermore, we chose two extensive GWAS databases for the IVs of PS to ensure the richness and applicability of genetic variables. Likewise, the sensitivity analysis and the subsequent meta-analysis showed consistent results when investigating the causal association between PS and cancers. Lastly, the genetic variables we chose are all from the European population, eliminating redundant bias. Some limits, however, cannot be overlooked. To begin, the GWAS database simply includes the PS exposure level without considering the severity of PS or treatment alternatives. Second, because all of our genetic data is from Europe, its extrapolation is limited.

In conclusion, our findings imply no link between PS and 17 sitespecific cancers. However, due to the potential confounding factors

References

2. Mounsey SJ, Kulakov E. Psoriasis. Br J Hosp Med. (2018) 79:C114-7. doi: 10.12968/hmed.2018.79.8.C114

identified in clinical practice, more rigorous tests must be designed in the future to clarify the complex association between PS and cancers.

Data availability statement

The original contributions presented in the study are included in the article/Supplementary Material. Further inquiries can be directed to the corresponding author.

Author contributions

JL: Writing – original draft, Writing – review & editing. MY: Conceptualization, Writing – review & editing. YP: Conceptualization, Writing – review & editing. HK: Data curation, Writing – review & editing. SL: Data curation, Writing – review & editing. DW: Writing – review & editing, Supervision.

Funding

The author(s) declare that no financial support was received for the research, authorship, and/or publication of this article.

Conflict of interest

The authors declare that the research was conducted in the absence of any commercial or financial relationships that could be construed as a potential conflict of interest.

Publisher's note

All claims expressed in this article are solely those of the authors and do not necessarily represent those of their affiliated organizations, or those of the publisher, the editors and the reviewers. Any product that may be evaluated in this article, or claim that may be made by its manufacturer, is not guaranteed or endorsed by the publisher.

Supplementary material

The Supplementary Material for this article can be found online at: https://www.frontiersin.org/articles/10.3389/fonc.2024.1366958/ full#supplementary-material

Griffiths CEM, Armstrong AW, Gudjonsson JE, Barker JNWN. Psoriasis. Lancet. (2021) 397:1301–15. doi: 10.1016/S0140-6736(20)32549-6

^{3.} Korman NJ. Management of psoriasis as a systemic disease: what is the evidence? Br J Dermatol. (2020) 182:840–8. doi: 10.1111/bjd.18245

^{4.} Murata M. Inflammation and cancer. Environ Health Prev Med. (2018) 23:50. doi: 10.1186/s12199-018-0740-1

5. Chiesa Fuxench ZC, Shin DB, Ogdie Beatty A, Gelfand JM. The risk of cancer in patients with psoriasis: A population-based cohort study in the health improvement network. *JAMA Dermatol.* (2016) 152:282–90. doi: 10.1001/jamadermatol.2015.4847

6. Trafford AM, Parisi R, Kontopantelis E, Griffiths CEM, Ashcroft DM. Association of psoriasis with the risk of developing or dying of cancer: A systematic review and meta-analysis. *JAMA Dermatol.* (2019) 155:1390-403. doi: 10.1001/jamadermatol.2019.3056

7. Smith GD, Ebrahim S. 'Mendelian randomization': can genetic epidemiology contribute to understanding environmental determinants of disease? *Int J Epidemiol.* (2003) 32:1-22. doi: 10.1093/ije/dyg070

8. Davey Smith G, Hemani G. Mendelian randomization: genetic anchors for causal inference in epidemiological studies. *Hum Mol Genet*. (2014) 23:R89–98. doi: 10.1093/hmg/ddu328

9. Hemani G, Zheng J, Elsworth B, Wade KH, Haberland V, Baird D, et al. The MR-Base platform supports systematic causal inference across the human phenome. *Elife*. (2018) 7:e34408. doi: 10.7554/eLife.34408

10. Burgess S, Butterworth A, Thompson SG. Mendelian randomization analysis with multiple genetic variants using summarized data. *Genet Epidemiol.* (2013) 37:658–65. doi: 10.1002/gepi.21758

11. Bowden J, Davey Smith G, Burgess S. Mendelian randomization with invalid instruments: effect estimation and bias detection through Egger regression. *Int J Epidemiol.* (2015) 44:512–25. doi: 10.1093/ije/dyv080

12. Bowden J, Davey Smith G, Haycock PC, Burgess S. Consistent estimation in mendelian randomization with some invalid instruments using a weighted median estimator. *Genet Epidemiol.* (2016) 40:304–14. doi: 10.1002/gepi.21965

13. Dai Z, Xu W, Ding R, Peng X, Shen X, Song J, et al. Two-sample Mendelian randomization analysis evaluates causal associations between inflammatory bowel disease and osteoporosis. *Front Public Health.* (2023) 11:1151837. doi: 10.3389/fpubh.2023.1151837

14. Hartwig FP, Davey Smith G, Bowden J. Robust inference in summary data Mendelian randomization via the zero modal pleiotropy assumption. *Int J Epidemiol.* (2017) 46:1985–98. doi: 10.1093/ije/dyx102

15. Burgess S, Dudbridge F, Thompson SG. Combining information on multiple instrumental variables in Mendelian randomization: comparison of allele score and summarized data methods. *Stat Med.* (2016) 35:1880–906. doi: 10.1002/sim.6835

16. Verbanck M, Chen CY, Neale B, Do R. Detection of widespread horizontal pleiotropy in causal relationships inferred from Mendelian randomization between complex traits and diseases. *Nat Genet.* (2018) 50:693–8. doi: 10.1038/s41588-018-0099-7

17. Frentz G, Olsen JH. Malignant tumors and psoriasis: a follow-up study. Br J Dermatol. (1999) 140:237–42. doi: 10.1046/j.1365-2133.1999.02655.x

18. Ji J, Shu X, Sundquist K, Sundquist J, Hemminki K. Cancer risk in hospitalized psoriasis patients: a follow-up study in Sweden. *Br J Cancer.* (2009) 100:1499–502. doi: 10.1038/sj.bjc.6605027

19. Kamiya K, Kishimoto M, Sugai J, Komine M, Ohtsuki M. Risk factors for the development of psoriasis. *Int J Mol Sci.* (2019) 20:4347. doi: 10.3390/ijms20184347

20. Scherübl H. Tabakrauchen und Krebsrisiko [Smoking tobacco and cancer risk]. Dtsch Med Wochenschr. (2021) 146:412-7. doi: 10.1055/a-1216-7050

21. Bagnardi V, Rota M, Botteri E, Tramacere I, Islami F, Fedirko V, et al. Alcohol consumption and site-specific cancer risk: a comprehensive dose-response metaanalysis. Br J Cancer. (2015) 112:580–93. doi: 10.1038/bjc.2014.579

22. Avgerinos KI, Spyrou N, Mantzoros CS, Dalamaga M. Obesity and cancer risk: Emerging biological mechanisms and perspectives. *Metabolism.* (2019) 92:121–35. doi: 10.1016/j.metabol.2018.11.001

23. Prizment AE, Alonso A, Folsom AR, Ahmed RL, Virnig BA, Warshaw EM, et al. Association between psoriasis and incident cancer: the Iowa's Women's Health Study. *Cancer Causes Control.* (2011) 22:1003–10. doi: 10.1007/s10552-011-9773-0

24. Lee JW, Jung KJ, Kim TG, Lee M, Oh J, Jee SH, et al. Risk of Malignancy in patients with psoriasis: a 15-year nationwide population-based prospective cohort study in Korea. J Eur Acad Dermatol Venereol. (2019) 33:2296–304. doi: 10.1111/jdv.15783

25. Murdaca G, Calamaro P, Lantieri F, Pigozzi S, Mastracci L, Grillo F, et al. HLA-G expression in gastric carcinoma: clinicopathological correlations and prognostic impact. *Virchows Arch.* (2018) 473:425–33. doi: 10.1007/s00428-018-2379-0

26. Carosella ED, Favier B, Rouas-Freiss N, Moreau P, Lemaoult J. Beyond the increasing complexity of the immunomodulatory HLA-G molecule. *Blood.* (2008) 111:4862–70. doi: 10.1182/blood-2007-12-127662

27. Cardili RN, Alves TG, Freitas JC, Soares CP, Mendes-Junior CT, Soares EG, et al. Expression of human leucocyte antigen-G primarily targets affected skin of patients with psoriasis. *Br J Dermatol.* (2010) 163:769–75. doi: 10.1111/j.1365-2133.2010.09917.x

28. Negrini S, Contini P, Murdaca G, Puppo F. HLA-G in allergy: does it play an immunoregulatory role? *Front Immunol.* (2022) 12:789684. doi: 10.3389/fimmu.2021.789684

29. Brauchli YB, Jick SS, Miret M, Meier CR. Psoriasis and risk of incident cancer: an inception cohort study with a nested case-control analysis. *J Invest Dermatol.* (2009) 129:2604–12. doi: 10.1038/jid.2009.113

30. Margolis D, Bilker W, Hennessy S, Vittorio C, Santanna J, Strom BL. The risk of Malignancy associated with psoriasis. *Arch Dermatol.* (2001) 137:778–83.

31. Nestle FO, Kaplan DH, Barker J. Psoriasis. N Engl J Med. (2009) 361:496–509. doi: 10.1056/NEJMra0804595

32. Loft ND, Vaengebjerg S, Skov L. Cancer risk in patients with psoriasis: should we be paying more attention? *Expert Rev Clin Immunol.* (2020) 16:479–92. doi: 10.1080/1744666X.2020.1754194